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1. Eight items were put on life test to failure. The corresponding data in hours are as follows.
871, 2294, 3943, 5494, 7900, 8073, 11020, 15840

Assuming Exp(}), est
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(i)  95% two-sided confidence interval for A.

(i)  MTTF

2. Calculate the system reliability for the following system.
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3. Assuming exponential distribution, define the general form of likelihood function for interval
censored data. Use the usual notations.

4. Consider the following data from life testing, in hours.
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Unit No.

Time (t)

Failed / Censored

1

3

10

24

28

42

98
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Assuming Exp(1), es
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5. Write short note on the following
a. Progressive type — | interval censoring
b. rout of n system
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[2x5=10]



